HOOKER" ASSEMBLY INSTRUCTION

T PURNITURET ITEM:5770-90251-GRY 5/0 Wood panel Headboard

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small
parts which may have come loose during shipment.

Read all instruction and study the drawing carefully before starting the assembly process.

HARDWARE LIST FARTS LIST
NOJDRAWING|DESCRIPTION SIZE QTY | NO. DRAWING DESCRIPTION QTY
A D IHexagonal Bolt [M13*@5/16"*1-3/4"L|6PCS
B spring Washer |5/16™12°2mm  |6PCS| ' Headboard Panel | 1PC
C Flat Washer  |5/16"19*2mm 6PCS
D Hexagonal Bolt|M13*@1/4"*1-1/2"L |2PCS| 2 / Headboard Leg bPCS

%"/ (Left & Right)
E Spring Washer |1/4"*10*2mm 2PCS J
G Flat Washer | 1/4"19*2mm 2pcs| 3 / Stretoher 1PC
F Open Wrench [M13*89*2mm 1PC

STEP1. Attach stretcher (3) to Headboard legs (2) using Bolt (D) Spring washer(E),Flat washer (G)
and tighten them by using Phillips head screwdriver

STEP2. Attach Headboard panel (1) to the Headboard leg (2) with Flat washer (C) Spring washer(B),and Bolt (A)
Three pieces per leg. Tighten the bolts by using the Phillips head screwdriver




HOOKER®

—FURNITURE—

ITEM:5770-90253-GRY 5/0-6/6 Rails

ASSEMBLY INSTRUCTION

ITEM:5770-90251-GRY 5/0 Wood Panel Headboard
ITEM:5770-90252-GRY 5/0 Wood Panel Footboard

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small
parts which may have come loose during shipment.
Read all instruction and study the drawing carefully before starting the assembly process.

HARDWARE LIST PARTS LIST
NO/DRAWING| DESCRIPTION SIZE QTY | NO.| DRAWING DESCRIPTION QTY
A1| womsemsme | Threaded rod | 5/16™3"L 8PCS 4 9 Headboard Panel+Legs 1PC
B1 IQ Curved washer| @5/16"*37*3mm 8PCS| 5 / Footboard Panel 1PC
c1 Nut @5/16"M13 gpcs| © / Rails 2PCS
7 Slats 5PCS
D1| <=5 |OpenWrench |M13*89*2mm 1PC /
8 / Long support leg 5PCS
E1| Ome Screw #8"30mm 10PCS| 9 & Short support leg 5PCS

STEPS3. Attach Rails (6) to the Headboard Panel +leg (4) using Threaded rod (A1),
Curved washer (B1),Nut (C1) and tighten them by Open wrench (D1)

STEP4. Attach Short support legs (9) to Slats(7)

STEPS. Attach the Slats (7) to the Rails (6) using Screw (E1)

by the Phillips head screwdriver

Adjust Leveler if needed to
level case on uneven floor.

,
I




HOOKER’ ASSEMBLY INSTRUCTION

—FURNITURE —
ITEM:5770-90251-GRY 5/0 Wood Panel Headboard

ITEM:5770-90252-GRY 5/0 Wood Panel Footboard
ITEM:5770-90253-GRY 5/0-6/6 Rails

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small
parts which may have come loose during shipment.

Read all instruction and study the drawing carefully before starting the assembly process.

STEP6. Use a Phillips head Screwdriver to take rail supports out of rails(6)

STEP7. Place the rails supports at higher position, then attach them to the rails(6) again using Screws (E1) and

the Phillips head Screwdriver

STEPS. Attach long support legs (8) and Short support leg (9) to Slats (7) then adjust leveler if need it.

STEP9. Attach the Slats (7) to the Rails (6) using Screw (E1) by the Phillips head screwdriver.

N ——— e ——
\

STEP9

/
\ Adjust Leveler if needed to
level case on uneven floor.
~-><_ Leveler

3of3




